R e iy e ————r——————rrrr— T - - T ————

el by TR
E [ W ® & B (5} = ﬁU) j . ﬁ AT
e L 2 =/ ta ?4 |
f FExmETmE S-" soysmsl 7 48 g
: . 4 A B
COREEE., THREBREEXCEATISEENELTRELTLET,
OHEZFBBANBNELDOTHY . BEDKRE LEEZBEAHYET,
OREZICL->T. BRENAEESNLEDTESY E¢ A,
ok ) s
JL 2b
M
25
e i a7 /6 4>
N
<«
o
N
AR
lj"’ gt
~ - B
N 7 14
N
bl /o0
B s <
L 225 R Y 1730 s
L o
3 = ~
S J 23 s g ;
b m
7817 /8 /6,76 /7. 9%




z

-~

}?I:-/#jﬁ— y;boao

7
X
L3 H i i
NO = » q
indtegd <7 . Secz-sE(l0o]3A 2002380 iﬁiﬁ%?
ZJ=”'“’-731 $ECO-32(1.0000) X 750=7.50 o Lam 2-55 (00509 %12 -.Z'.BL o
ten 0-32 (0.0013)#1250= %lals L1 1Z - TREx '
A o M e et
ﬁxlﬂ %E‘;' q0-32-0Z e 1
Té‘\ N M * |
. 28 | 44
%: (51382 %E L
b L2138 F §3‘; / 59.29 =5
g =5 s 0-32=4.499931% rﬁr«x
<l 2 34 2 Joq 5928= L7T3bhL |83 4
CF = Vb2 8% o052 ba18x oopx Cao 5703 = b2 15" 33 leg 48.2b= 1.b517533 (+ | e
FFB = %x L2 18% 0,05 x Sun 87-03= |55Z o 2 3.4554'052 ’ é
B = /2] _ PR i
(cFpe —DIZEIWFTND 2 pos0p=Sui-0> L - 2873 b3 )= |42b. 54 1§
S LGFE = 5-7;27" Hiox ;h o SR :
L ZACB = 4254 0 N e 22% ,
agie ms
A GEF= 75 A ;*: < % e
s 37 e n §0-30-9.9999835 2%
o 2 1V 2x hokBro1ix Coo 81-2 - 4543 ™" s w §9-30=9.4 %
GE \/45-4-8 0,1V -2x ‘ i T e J’? 12.15=1. 7q 3 L507 : E%
VI FD - 14 x 4548x 011 x SmB]-2T = 2,59) : ,%E /591 45 48=1 1777520‘5( 33
SEEIVR e ST - 34514547 ia
LEQ‘f_ m " '
hadi T8 | - 282757 o 141212 3
8a L N q 7 |7 E; L7r 2.5 3 37‘27_7:_‘7 &y we l
AAQ‘H=7/7\7' m U '\\l (62‘13 .6o;a)x3.00=3-°g 4 Vi l
= % e Jec0-30 (1000 0=0.03(+ = 1871.074
AR= V515870 7% 2x 5.38 % 2.1 Tx (oofz-4T = 7974 33 , 87_02’4_74;0[3))‘ 750751 2.2 Towe 030 @208TIH0" 50 | :§=-|os4. 107 {
BT - Yx 59.28x 0.1 % Sin J2~4] = 5.0 4 4 {b;‘;;:ﬁ‘(:)':gs,g);’;i’oo=07\57& é o
4 s NebZ { ; g 1
A ABC % A= 1801.492
AB= \/43.012*‘0- 187 zx48.0| X 0. |8X C&sz'f4 = 43.02 ',j:- [107. 305
\@/?f'/: %x £8.01 x0.18x SwidZ-F4 = 4210 M
\
\ {
52 F m : 7. 7
ﬁéfﬁﬁ% 142b.84 + 1413.435 - |.552 - 2.501 - 5,041+ 4319 = 283b.00"(x2 3025= 357 539™%) - 557 33 W
Gl S 2505 + 1.93 = 2b q8M(x4 3025 =
2|
2

z809. 02" (x0,.3025=

A\
>
9

%‘Q

5 6%) - 515 W
54f- 121%) = 34f L5 F

 OHEZFBHMANEOLOTHY . BEOKRLFRLBENHYET .

COREFE, THREBEEXICAHIISEEMNLE L TRELTVET, [
ORE%Ic&>T. HRENHESNDLOTEDHY EHA,




	page1
	page2

